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                  SUBTRACTION  

Subtraction is backward counting.  

Example:‐  

5 birds on the tree.  

2 birds fly in the sky . 

How many birds left on the tree.  

5 — 2 = 3  

( 5 — 1= 4 ) ( 4  — 1 = 3 )  
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Let us Subtract these numbers by backward 

counting.  

a.8 — 5 = _________ 5  6  7  8 

b. 6 — 2 = _________ 2  3  4  5  6 

Subtract the following  : 

1.9 — 3 = 

2. 6 — 2 = 

3. 7 — 4 = 

4. 9 — 4 = 

5. 8 — 2 = 

6. 9 — 5 = 

7. 7 — 0 = 

Subtract the following  : 

1.17 — 5  
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2. 42 — 1 =  

3. 27 — 3 =  

4. 67 — 1 =  

5. 18 — 5 = 

6. 29 — 2 = 

 

 

 

 

 

 


